Adaptiertes (QCIELAB ( C*,p, o L*) und relativesCIELAB ( C*japr, * jap+)
LG49_LCD projector_2 0%_Fadin

Buntton: h*| 5oc=151/360;h* \000=

relative Helligkeit

*jabs

354/360,

Prap=(L* =L*n) / Cw-L*N)
€*lap*=C*aba/ C*an.am
M=Maximalfarbe

relative Buntheit c*|p




Adaptiertes (QCIELAB ( C*,p, o L*) und relativesCIELAB ( C*japr, * jap+)
LG49_LCD projector_2 0%_Fadit

Bunon: | el 17360 e asa/a0 ot 3 NAEWEEEND
untion: h ooc=151/360 yooo=354/360." ) _ce ycen

M=Maximalfarbe

relative Helligkeit I*i

if

relative Buntheit c*|p




Adaptiertes (QCIELAB ( C*,p, 5 L*) und relativesCIELAB ( C*japr, * jap+)
LG49_LCD projector_2 0,6%_Fadin Flape=(L* =¥ )/ L w -L* )

Buntton: h* =151/360;h* =354/360.+  _~x *
E00C NS8O €*lap*=C*aba/ C*an.am

M=Maximalfarbe

relativeHelligkeit  I*ap«

relative Buntheit c*|p




Adaptiertes (QCIELAB ( C*,p, 5 L*) und relativesCIELAB ( C*japr, * jap+)
EGAi’LChti pVOIecl‘gbazs%ii&fadZSA/se&* A B

untton: = I = * O *
£00C MO8 €*lap*=C*aba/ C*an.am

M=Maximalfarbe

relative Helligkeit I*i

if

relative Buntheit c*|p




Adaptiertes (QCIELAB ( C*,p, 5 L*) und relativesCIELAB ( C*japr, * jap+)
LG49_LCD projector_2 1,2%_Fadin Flape=(L* =¥ )/ L w -L* )

Buntton: h* =151/360;h* =354/360.+  _~x *
E00C NS8O €*lap*=C*aba/ C*an.am

M=Maximalfarbe

relativeHelligkeit  I*ap«

relative Buntheit c*|p




Adaptiertes (QCIELAB ( C*,p, 5 L*) und relativesCIELAB ( C*japr, * jap+)
EGAi’LChti pVOIecl‘gbazstiu*@l:ad“aswse&* A B

untton: = I = * O *
£00C MO8 €*lap*=C*aba/ C*an.am

M=Maximalfarbe

relative Helligkeit I*i

if

relative Buntheit c*|p




Adaptiertes (QCIELAB ( C*,p, 5 L*) und relativesCIELAB ( C*japr, * jap+)
LG49_LCD projector_2 2,5%_Fadin Flape=(L* =¥ )/ L w -L* )

Buntton: h* =151/360;h* =354/360.+  _~x *
E00C NS8O €*lap*=C*aba/ C*an.am

M=Maximalfarbe

relativeHelligkeit  I*ap«

relative Buntheit c*|p




Adaptiertes (QCIELAB ( C*,p, 5 L*) und relativesCIELAB ( C*japr, * jap+)
EGAi’LChti pVOIecl‘gbazszii&fadZSA/se&* A B

untton: = I = * O *
£00C MO8 €*lap*=C*aba/ C*an.am

M=Maximalfarbe

relative Helligkeit I*a/b«L

if

relative Buntheit c*|p




Adaptiertes (QCIELAB ( C*,p, o L*) und relativesCIELAB ( C*japr, * jap+)
LG49_LCD projector_2 5%_Fadin Flape=(L* =¥ )/ L w -L* )

Buntton: h* =151/360;h* =354/360.+  _~x *
E00C NS8O €*lap*=C*aba/ C*an.am

M=Maximalfarbe

relativeHelligkeit  I*ap«




Adaptiertes (QCIELAB ( C*,p, 5 L*) und relativesCIELAB ( C*japr, * jap+)
LG49_LCD projector_2 5%_Fadit

Bunon: | e 1511360 e asa/a0 ot 3 NAEWEEEN)
untion: h ooc=151/360 yooo=354/360." ) _ce ycen

M=Maximalfarbe

relative Helligkeit I*a/b«L

if

relative Buntheit c*|p




Adaptiertes (QCIELAB ( C*,p, 5 L*) und relativesCIELAB ( C*japr, I* jap+)
LG49_LCD projector_2 10%_Fadin

Buntton: h*| 5oc=151/360;h* \000=

relative Helligkeit

* b

354/360,

Prap=(L* =L*n) / Cw-L*N)
€*lap*=C*aba/ C*an.am
M=Maximalfarbe

relative Buntheit c*|p




Adaptiertes (QCIELAB ( C*,p, 5 L*) und relativesCIELAB ( C*japr, * jap+)
LG49_LCD projector_2 10%_Fadit

Buntton: h*| goc=151/360;h* \000=

asarseo, P TN EweLin)
€*lap*=C*aba/ C*an.am
M=Maximalfarbe

relative Helligkeit I*i

if

relative Buntheit c*|p




Adaptiertes (QCIELAB ( C*,p, 5 L*) und relativesCIELAB ( C*japr, * jap+)
LG49_LCD projector_2 20%_Fadin Flape=(L* =¥ )/ L w -L* )

Buntton: h* =151/360;h* =354/360.+  _~x *
E00C NS8O €*lap*=C*aba/ C*an.am

M=Maximalfarbe

relativeHelligkeit  I*ap«

relative Buntheit c*|p




Adaptiertes (QCIELAB ( C*,p, 5 L*) und relativesCIELAB ( C*japr, I* jap+)
LG49_LCD projector_2 20%_Fadit

Buntton: h*| goc=151/360;h* \000=

asarseo, P TN EweLin)
€*lap*=C*aba/ C*an.am
M=Maximalfarbe

relative Helligkeit I*ﬂ\

if

relative Buntheit c*|p




Adaptiertes (QCIELAB ( C*,p, 5 L*) und relativesCIELAB ( C*japr, * jap+)
LG49_LCD projector_2 40%_Fadin Flape=(L* =¥ )/ L w -L* )

Buntton: h* =151/360;h* =354/360.+  _~x *
E00C NS8O €*lap*=C*aba/ C*an.am

M=Maximalfarbe

relativeHelligkeit  I* g«

(©*u, *m)

relative Buntheit c*|p




Adaptiertes (QCIELAB ( C*,p, 5 L*) und relativesCIELAB ( C*japr, * jap+)
LG49_LCD projector_2 40%_Fadit

Buntton: h*| goc=151/360;h* \000=

asarseo, P TN EweLin)
€*lap*=C*aba/ C*an.am
M=Maximalfarbe

relative Helligkeit I*j\

\
‘ (C)
\
\

relative Buntheit c*|p




